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Part II

Refer to the two-level random-effects model story, taken from the lﬁ :Zo
Berk text, on class handout 1/31. S ‘J- c(
In the Level-1 model the outcome is student test score, and 6[
within-school predictor is student's family income. PVD &m

Can you construct a level-2 model such that the resulting

combined model (i.e. what would be fit by lme) is the véers

contextual effects regression model for student test

score and student income [see class handouts 1/29 and again 1/31 \/.' > ‘960?‘6

for the form of the contextual effects regression] L]

Under this multilevel model, what is the interpretation of the

contextual effect? Xc._) Z Income ;. <)
Selution?
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